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General Instructions: -

. This question paper consists of 38 questions, which are divided into

four sections: A,B,C,D.

. All the questions are compulsory.

. Question no 1 to 20 of Section A. Each question carries 1 mark.




4. Question no 21 to 29 of Section B consists of nine very short answer

type questions. The answer to each question may be given in about 30
words. Each question carries 2 marks.

5. Question no 30 to 35 of Section C consists of six short answer type
questions. The answer to each question may be given in about 80
words. Each question carries 4 marks.

6. Question no 36 to 38 of Section D consists of three long answer type
questions. The answer to each question may be given in about 200
words. Each question carries 6 marks. Question no 36 will be answered

with the help of given passage.
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Section- A
1 | SATSTAT & S SANTET Fid FT STATRA g 2 1

(31) 1789 - 1857
() 1757 - 1889
(3) 1857 - 1979

(8) 1785 - 1855

What is the lifespan of August Comte, the father of sociology?
(a) 1789 - 1857
(b) 1757 - 1889
(c) 1857 - 1979
(d) 1785 - 1855




TR Tl T g AT I9T AT ?

(1) \TEq

() T

() wi

(%) sTATEH

Which country was the centre of the Industrial Revolution?
(a) India

(b) England

(c) France
(d) America

1948 ¥ ITHIT T T STeqAT Tohefeh g1 6T 17 ?
(=1) =t . qasit

() ZETw

(F7) =T

(%) Ta.TA, ffFar

Who studied Rampura village in 19487

(a) D.P. Mukherjee

(b) Durkheim

(c) Charles Cooley
(d) M.N. Srinivas

Khasiis @....covveevmeveeenennne ?

9TTh T I TI=T FAT & ?
(1) TSI &

() 7T

() ATqEATHE TRAT
(%) FETAT

What is the legitimate form of power?
(a) political party

(b) power

(c) Matriarchal family

(d) sovereignty




TRET it a8 GEAAT SaH ATTHR S TTA e EIE)
&l foge Fgerdt 2 2

That structure of the family in which authority and dominance rests

with............ is called patriarchy ?

TR M AT ?

(1) =T

EERIEEIEET

(&) T

GEEKCEL

Which of the following is the type of education?
(a) formal

(b) informal

(c) political
(d) Both Aand B

FAT T 31 L ?
Fgfaare =af<h &1 UF 9T § TF q0d AT TAT Al Taaiad Har g

Correct the statement?

Polygamy restricts a person to one spouse at a time.

AT HEh d T SaTe 0 MH § H 751 § ?
(ar) fo=me

() ATEAT

() a¥

(%) femar

Which of the following is not an example of non-material culture?
(a) thought

(b) emotions

(c) religion

(d) book

10

FAT HT ST FY -
T ILEILT gLt FHTSI § G0 ST ¢

Correct the statement -

Small tradition is found in urban societies.




A comprehensive survey that includes every member of the

population is called........................ ?

12 | T A IFR AT AT HEAT S ?
CIRIRIEED
() Fera®
GIRERIRE
GEERS:
Which of the following is the type of Data ?
(a) primary
(b) tertiary
(c) secondary
(D)AandC
13 | 9 ATATSE i S Argme 9% =i<hal i T3gi & 3g a1 7%
weata uTe gieT 8, FeATdt g ?
HTHTISTR TALIRTOT / ATHTISTE S
The social system on the basis of which individuals and groups get
higher or lower status is called ?
Social Stratification/Social Structure
14 | AT 7 A 6T TR, STATEH 6 ATga] F THH] il STH AT Rl

FETE?
FATT [ W

What did Marx call the indifference of workers towards the nature
of work and the means of production?
Alienation / conflict
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T STTT ol ST ohee & o ?

(1) TrHTERTHT

CIEUREL]

() ghEm

(=) AT

Who gave the concept of Dominant caste?

(a) Ramaswami
(b) Srinivas
(c) Durkheim

(d) Marx

16

2011 T STRTOATHTT AT i fhaet STaerd STeeedT Tl o
e w8 ?

(31) 68.84

(¥) 31.6

() 78.74

(%) 36.78

According to the 2011 census, what percentage of India's population
lives in Rural area ?

(a) 68.84

(b)31.6

(c) 78.74

(d) 36.78




17 | Ot e o T € e ieed g ?
(37) TrSTEITH
(=) g
() IaEE
(%) TerTd
Chipko movement is related to which state?
(a) Rajasthan
(b) Haryana
(c) Uttarakhand
(d) Gujarat
18 | fa=TT= T 917 omaT ST /79a ¥ &l ATIRE 7T ST o T T
HEIAT FLAT &, FgeATdl & 2
The branch of science which studies the type of human race by
measuring the human body is called?
19 | T UHET T A NS @ q® & o@® Hid g ?

(3T) T HTFH
() 7T

() FFE 9@
() g

Who is the author of the book 'The Elementary Forms of the
Religious Life?

(a) Karl Marx

(b) Merton

(c) Max Weber

(d) Durkheim
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STt = e Gy e 2 g ?
(&) Str.uH. g
() WA, ZATE

(%) ST, Tt

(%) TH.UA. fifFame

Who called the tribes backward Hindus?
(a) G. S. Ghurye

(b) A.R. Desai

(c) D.P. Mookerjee
(d) M.N. Srinivas

AT -2
Section-B

21

FIHAST AT T g ?

What is empirical investigation ?

22

AT F T A § 7 S| 9T Tarsy |

What is meant by role? Explain with examples.

SEEL

pfoeT e /T § 2 SeTger afd Tarey |

What is role conflict? Explain with examples.

1+1

23

TATSA TETH & AqET g9 FAT & ?

What is religion according to Emile Durkheim?

24

qraTere fafd i :rg <1 e e

Write any two types of interview method.

1+1




25 | SIS T 7 ? THEHRT TaIH 6 G H qAT2A| 1+1
What is observation? Explain about non participant observation.
9T
HAATH AT g ? AGHAGHIT STAATRT % qTC & T8
What is observation? Explain about quasi participant observation.
26 |wRARET=TR | 2
What is Competition ?
9T
Y 4T |
What is Conflict?
27 |SfewmwTE? 2
What is evolution?
28 | AtwaTet aeT At HE & RFATaTd T 1+1
Mention any two features of bureaucratic system.
29 | T H HATIAHAAE ? 2
What do you understand by tradition?
-3
Section - C
30 | TR ¥ GHTSILATE % STEAIT ht s AT ATGLTRATT AT 2 1+1+1+1

Mention any four requirements of studying sociology in India?

SEETE

TSI & S+ q faare § 9gd it @ qeATst HT 9 S |

Describe the major events that contributed to the birth and

development of sociology?




31

AT THTSIT il STHATEAT T AEAY AATATE HIT i g 2
S fifvm

What are the important features of the economy of modern
societies?

Far
TTHTOT GHTSIT T SrefeaedT i Agcaqor faarward wie Ft § ?
Ig Hiform)

What are the important features of the economy of Rural
societies?

1+1+1+1

32

TS 68 Fgd § ? TATSHHLI F THE ATHRLT FATS |

What is socialization? Mention the main agencies of socialization.

1+3

33

e ATaETE g AT ? T G F THE T qHEATE |

What is global warming? Explain the main types of environmental pollution.

1+3

34

AT T 4T § 2 TEIH & AT JiTAd TaH Araaqdr THal § i<
THATLY |

What is social fact? According to Durkheim, explain the difference
between mechanical and organic unity.

35

TR, TS AT HIATIHT T HY Tq@ fFArwaret s avia #:)

According to Desai, describe the main features of a welfare state.

T - 4
Section—-D

T G136 ¥ 38 EH SAUHE § TAH AT TUE &3 & fads &
HATETT I FY -

Question numbers 36 to 38 are long answer type and should be
evaluated at the discretion of the examiner.
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T ooft Tg SeE gw HdfET gq § g g e &9 § Ageapd T
B0 &1 TS O9E U e % HiS q&l Hit vl w3 € iR gd @l &
Jafre dTgad § ATd g1 "WTAAT 99g' § a7 AN § UF S aqg 4§
ST 9RY, AWA-AHT F AA-MET i 989 3T R g 81 e
IET & T3] § TH-qEY ¥ GTT g ol STaET gl gl TRET, I 3K
=t % Tag et gl S |

fadas aqg R § AUATHT 92 {id § S S8 =T 3K
FaafRs gae gid &1 YTofAs ayg =aie 7@ gid &, St fadas aqg
we 3@ Farerer, e Frate, serdrd, s d e ot fedes avggt
& IIEL &

T IO A FF S it 9¢ AgHF A agd St 4
S RS qmioe @9 sk Siaa-Aeft % ST 9% @A 3 #w7
o= arrehtsr quTSTeT R & dEe i ST of STt g1 e ° Arcad S99
AT gl ¥ § S 9gad Afaw 3afes, 9y sk R g €, =t
TF ARh hf WEET 99 A= 3ET & uisa 998 § 9o 8 IRaK
TSraeft 7= g wEmagl BT &)

ATST AT H9 F qId g€ a<g 9 99aT & Qudq g fFQwa:
AT AT Saw F TUd: FAAed, MY AT T Heien| qTivS
#IT IR Fit AGIHaAT I8 § T T =Afw F7 FAagR @ AR F 9971-
g, FRAET T S R F SgE g g TE-gEl B S Ao
FL SIAT GAATAT HLA g1 AT THI S ATAAF qHg &l GA q19
T g A 99 9 G 99g & q9qe A1 a5°d gl

efag g Y STeT st g it T8 ST gl Ig ATEET o
T H I IR AYAT T ¥ FAT FAT Bl T TheA § UgA a1 9, S A
H Al 9@ 9T Ig1 (65 T Sid: THG a7 g g| FAT AT UH gl
T HE F AR F A" a6 § 9 AT T any g g v §
S8 T siq: g % 938 ga8q Tl gidl T S g ® aaedi H
3 IYE & gaEdl At A F WAGH FAGGRK FT ATHAT FAT I8 THhaT g
AT & AFET ST THE AT SIar gl gt agi o #19 gaiea §
A &I GETET Gl il aTeqias GIRNTHT G0 S GTATOG GaNT & ard
FaT gt gl

st g e wga g ?
I AT ] ?

T: GHE ol IgaTT Fdf Sl g ?
T &l T AT AT ST 9T g ?
TR] HYE F IIELT
I &

o u ke wNPR
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Not all the groups to which we belong are equally important to us. Some
groups influence many aspects of our lives and bring us into personal
association with others. 'Primary group' refers to a small group of people
who are linked by close, face-to-face interaction and cooperation.
Members of primary groups have a sense of belonging to each other.
Family, village and group of friends are examples of primary groups.

Secondary groups are relatively larger in size and have formal and
impersonal relationships. Primary groups are person oriented, while
secondary groups are goal oriented. Schools, government offices,
hospitals, student unions etc. are examples of secondary groups.

The idea of comparing the old traditional and agrarian life with
the new modern and urban life on the basis of their different social
relations and life-styles leads to the writings of classical sociologists.
Community refers to those human relationships that are highly personal,
intimate and enduring, where a person's participation in true friends or a
close-knit group, although not as important as a family, is important.

The meaning of society or association is in every way the opposite of
community, especially the obviously impersonal, external and temporary
relations of modern urban life. The need of commerce and industry is that
the behavior of one person with another should be measured, rational and
according to personal interests. Instead of getting to know each other, we
make agreements or compromises. You can consider community and
primary group as equivalent and association and secondary group as
equivalent.

The feeling of belonging creates in-group identity. This feeling
separates us or us from them or them. Children studying in a school may
form an in-group against children not studying in that school. Can you
think of any other such groups? In contrast, an outgroup is one to which
members of an ingroup do not belong. Members of an out-group may face
adverse behavior from in-group members. Immigrants are often
considered an out-group. However, here too the actual definition of who
does and does not belong varies over time and social contexts.

1. What is called primary group?

2. What is community?

3. How is in-group identity formed?

4. What can the Sangh be considered similar to?
5. Give examples of outgroup?

6. What can the community be considered equal to?

B N Y. T N N N




1. HEIN S §9 2+2+2
2. FiA® TE qEgET ThAT
3. gSfame
What is cooperation? Explain division of labour.
Or
Make a comment -
1. Cooperation and conflict
2. Mechanical and organic unity
3. Capitalism
38 | T &A1 it ATHTIIE TIEAT TAT ITH G AT TRAAAT BT q0T 2 +4
oy
AT
feoqofy w% — 2+2+2
1. wWig e
2. FEHT
3. T TREE

Describe the social system of urban areas and the social changes taking
placein it.
Or
Make a comment -
1. Mass transit
2. Ghettoization
3. Gated Community




